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print(dt["season"].unique())
print(dt["holiday"].unique())
print(dt["workingday"].unique())
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dt[ 'datetime'] = pd.to_datetime(dt['datetime’],format="%Y-%m-%d %H:%M:%S") BN
dt_test['datetime'] = pd.to_datetime(dt_test['datetime'],format="%Y-%m-%d %H:%M:%S") #F EH
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dt["year"] = dt['datetime’'].dt.year
dt["month"] = dt['datetime’].dt.month
dt["hour"”] = dt['datetime'].dt.hour
dt["dayofweek"] = dt[ 'datetime’].dt.dayofweek

dt_test["year"] = dt_test['datetime’].dt.year
dt_test["month"] = dt_test['datetime’].dt.month
dt_test["hour"] = dt_test['datetime’].dt.hour

dt_test["dayofweek"] = dt_test['datetime'].dt.dayofweek
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X_train, X _test, y_train, y_test = train_test_split(dt[factor], dt["count"], test_size = ©.3, random_s
rfmodel = RandemForestRegressor(n_estimators=3000, random_state=42, max_depth=30)
rfmodel.fit(X_train,y_train)

pred = rfmodel.predict(X_test)

MSE = mean_squared_error(pred, y_test)

MSLE = mean_squared_log_error(pred, y test)
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print(“RMSE =", MSE**@.5)

print("RMSLE =", MSLE**@.5)

RMSE = 154.13067529171568
RMSLE = 1.2845150860833485

pred = rfmodel.predict(X_test)

MSE = mean_squared_error(pred, y_test)
MSLE = mean_squared_log_error(pred, y test)
# I E 5

print("RMSE =", MSE**@.5)

print("RMSLE =", MSLE**@.5)

RMSE = 1.2691033479515628
RMSLE = 0.30814407619288725

PR A AASLE R % - RMSE 5 154,13 ~RMSLE % 1.28 -
T Hl 5 FAHB log ek % - RMSE 5 1.27 ~RMSLE % 0.31 -
® PR RCE S At 0 T OURETIERIE R G B E R o

i1

Heatmap

season -

holiday

S
s

- 06

03
-

oo [
0.0

workingday
windspeed -
registered -
registered_log -
count_log -



ERPEER Y BT HERE R

- 22

1

BEL T

RpEiE jﬁﬁ;éﬁ%t’:count(total), casual, registered > % !

£ FRTE feft o

W imens #

b4
o

casual

registered

2501

o
10 20 30 40 50 60 7.0 80 9010011 012.0

%

o

ERAEE AR 0 F X B

asual

10 20 30 40 50 60 70 80 9010011012.0

month

U 3 AN 1

®

registered

10 20 30 40 50 60 70 80 9010011.012.0
month

00 10 20 30 40
dayofweek
BRI BT EAXEY

10 20 30 40 50
dayofweek
B o AL i X




PP PR KRR F

| pE

500

400

300

100

count
=]
(=}
X @asual ] )
registered

L] 4
00200660 ECDN0IESIEIN NN 0 0026 @6 67 6 6000I0181581018800 013 0 00 @686 6063001088580 88DN0S 0
hour hour hour

AP R KR B A12-180 P R F R R TRIEER o

oount
-
=}
wn
casual
registered

10 20 30 40 10 20 0 40 10 20 30 40
weather weather weather

KILP @ E T A F R o eI @ FR0 3L 2) o e r B
A7 5 e

R iE

=0

casual
registered

al

)
‘
@
!

windspeed windspeed windspeed

R EARIFET FLPHE -

WE R R



400

350

300

=0

asual

E21JU

registered

150

BT ol

atemp

(=]

ARF R RAP -

BR

counk

casual

il

Mo G GRREPFR Y > R EER Y £ T

humidity humidity

%a%$~wﬂ~%w S 5 T ARG Bk o S 8 TS g
FoBMHATRYIIED ~ERCBRCRESEL S EH
8 BFF o B¢ F&{ox § F1+ #* one-hot encoding °

) e

AFF gy S A3 KNN JF & 2 & Random Forest ©

KNN i ¥ i2

from sklearn.preprocessing import StandardScaler
#EIEER]

scaler = StandardScaler()

general_data = data[["casual_log"”, "count_log"”, "registered_log"]]
scaler.fit(general_data)

scaled = scaler.transform(general_data)
scaled = pd.DataFrame(data=scaled, columns = general_data.columns)

#8275 og EFI(KNNFZ7E)

scaled["casual_log"] = (scaled["casual_log"] * 1@) .apply(np.floor)
scaled["registered_log"] = (scaled["registered_log"] * 1@) .apply(np.floor)
scaled["count_log"] = (scaled["count_log"] * 1@) .apply(np.floor)

general_data = general_data.join(data.drop(["casual_log", "count_log",

"registered_log"],axis=1))



def build_kmodel(data, tuning_parameter):
X_train, X_test, y_train, y_test = train_test_split(data.drop(["count_log", "registered_log","casu

kmodel = KNeighborsRegressor(n_neighbors = tuning_parameter)
kmodel.fit(X_train,y_train)
pred=kmodel.predict(X_test)

MSE = mean_squared_error(pred, y_test)

return kmodel, MSE
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#finding the best k value
k values = [3, 4, 5, 6, 7, 8, 9, 10, 15, 28, 30]

MSEs =[]
models = []

for k_value in k_values:
model, MSE = build_kmodel(general_data, tuning_parameter = k_value)
MSEs . append(MSE)
models.append(model)

H? k=6 MSE % 0.56 > 5 BI3F e £ fZ o

kmodel = KNeighborsRegressor(n_neighbors = 6)
kmodel.fit(general data.drop(["count_log", "registered log","casual log"],axis=1), general_data["count
pred=kmodel.predict(data_test)

submission = pd.DataFrame({
"datetime"”: dt_test["datetime"],
"count": [max(@, x-1) for x in np.exp(pred)]
1

submission.to_csv('KNN.csv', index=False)
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Random Forest

X_train, X_test, y_train, y test = train_test_split(data.drop(["count_log", "registered log","casual 1
rfmodel = RandomForestRegressor(n_estimators=3000, random_state=42, max_depth=30)
rfmodel.fit(X_train,y train)

pred = rfmodel.predict(X_test)

MSE = mean_squared_error(pred, y_test)

MSLE = mean_squared_log_error(pred, y_test)

#HlE S B

print("RMSE =", MSE**@.5)

print("RMSLE =", MSLE**@.5)

RMSE = 0.3453234181071481
RMSLE = ©.09199942633926979
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rfmodel = RandomForestRegressor(n_estimators=3000, random_state=42, max_depth=3@)
rfmodel.fit(data.drop(["count_log", "registered_log","casual_log"],axis=1),data["count_log"])

pred = rfmodel.predict(data_test)
submission = pd.DataFrame({
"datetime”: dt_test["datetime"],
"count": [max(@, x-1) for x in np.exp(pred)]
b

submission.to_csv('RF.csv', index=False)
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rfmodel = RandomForestRegressor(n_estimators=30600, random_state=42, max_depth=30)
rfmodel.fit(data.drop(["count_log", "registered_log","casual_log"],axis=1),data["count_log"])

pred = rfmodel.predict(data_test)
submission = pd.DataFrame({
"datetime”: dt_test["datetime”],
"count”: [max(@, x-1) for x in np.exp(pred)]
i)

submission.to_csv('RF.csv’, index=False)
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https://www. kaggle. com/c/bike-sharing-demand/
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